



Pinellas County
ADMINISTRATIVE SERVICES

Joseph Lauro, Director
Pinellas County Courthouse Annex Bldg., Sixth Floor, Clearwater, FL 33765

[ACE SEPTIC AND WASTE] RESPONSE DOCUMENT REPORT

ALL No. 25-0200-ITB

Emergency Storm Response Tanker and Pump Truck Services

RESPONSE DEADLINE: April 17, 2025 at 3:00 pm

Report Generated: Tuesday, May 27, 2025

ACE Septic and Waste Response

CONTACT INFORMATION

Company:

ACE Septic and Waste

Email:

amarzan@acesepticandwaste.com

Contact:

Adam Marzan

Address:

8005 Land O Lakes Blvd
Land O Lakes, FL 34638

Phone:

(813) 809-1798

Website:

ACEsepticandwaste.com

Submission Date:

Apr 9, 2025 12:44 PM (Eastern Time)

ADDENDA CONFIRMATION

No addenda issued

QUESTIONNAIRE

1. VENDOR QUESTIONNAIRE

Respondents are expected to organize their submittals in such a manner as to facilitate the evaluation process. Submittals should be keyed or indexed to correspond with this solicitation. Responses should be correlated to the specific submittal, criterion, section or paragraph number of the solicitation being addressed.

Evaluators will make a reasonable effort to locate information in the responses; however failure to follow this suggested format may make location of critical submittal information difficult, possibly resulting in a loss of appropriate credit.

Additional documentation may be requested by the County to ensure contract compliance.

FEMA REQUIREMENTS EXHIBIT G*

Complete and upload FEMA Requirements "Exhibit G Disclosure of Lobbying Activities" form.

- [Exhibit G, H & I - FEMA Gra...](#)

25-0200-ITB_Exhibit_G,_H_&_I_-_FEMA_Grant_Provisions_ACE_Sepic_Tank_Service_of_Tampa.pdf

CONTRACTOR ACCEPTANCE FORM*

Download the below documents, complete, and upload.

- [11.13.2024.Vendor.acceptanc...](#)

Vendor_Acceptance_Ace_Sepic_Tank_Service_of_Tampa.pdf

OPENGOV ELECTRONIC PRICING PROPOSAL AND DELIVERY DAYS*

[ACE SEPTIC AND WASTE] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

See OpenGov electronic [Pricing Proposal](#). Pricing must be submitted within the OpenGov electronic [Pricing Proposal](#) and all pricing must be completed.

DELIVERY _____ DAYS AFTER RECEIPT OF ORDER

An award may not be issued without proof that your firm is registered with the Florida Division of Corporations, as per Florida Statute §607.1501 www.flsenate.gov/Laws/Statutes/2011/607.1501.

A foreign corporation (foreign to the State of Florida) may not transact business in this state until it obtains a certificate of authority from the Department of State. Please visit dos.myflorida.com/sunbiz/ for this information on how to become registered.

Our firm is registered with the Florida Division of Corporations, and we have obtained the necessary certificate of authority to transact business in Florida.

SUBMITTAL DOCUMENTS*

Upload all other documents relating to this solicitation.

ACE_Septic_Tank_Service_of_Tampa_W9.pdf

Appendix_A_Certifications_&_Licenses.pdf

Pinellas_County_Ace_Septic_Tank_Service_of_Tampa_Inc_Certificate_of_Insurance.pdf

Common_Carrier_Ace_Septic_Tank_Service_of_Tampa.pdf

Human_Trafficking_Ace_Septic_Tank_Service_of_Tampa.pdf

Foreign_Country_of_Concern_Ace_Septic_Tank_Service_of_Tampa.pdf

Hillsborough_AceRecommendation_03-2025.pdf

SWS_Recommendation_Letter.pdf

U.S_Water_Service_Corp_Recommendation_Letter.pdf

ATTACHMENTS*

Please note there are three attachments/affidavits which will have to be completed and signed by the awardee.

1. Common Carrier Attestation

2. Human Trafficking Affidavit

[ACE SEPTIC AND WASTE] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

3. Foreign Countries of Concern Affidavit.

Please confirm that you have read and understand that these documents will be required of the awardee.

Confirmed

PRICE TABLES

VEHICLES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc. No additional charges for operators allowed.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
1	Group 1- Pump Truck, 4,000 gallons, Emergency	1,000	Hour	\$325.00	\$325,000.00
2	Group 1- Pump Truck, 4,000 gallons, Standby	100	Hour	\$325.00	\$32,500.00
3	Group 1- Pump Truck, 7,500 gallons, Emergency	500	Hour	\$550.00	\$275,000.00
4	Group 1- Pump Truck, 7,500 gallons, Standby	99	Hour	\$500.00	\$49,500.00
5	Group 2- Tractor Trailer/Tanker, Emergency	600	Hour	\$550.00	\$330,000.00
6	Group 2- Tractor Trailer/Tanker, Standby	100	Hour	\$500.00	\$50,000.00
7	Group 3- High Output Mobile Pump, Emergency	600	Hour	\$150.00	\$90,000.00
8	Group 3- High Output Mobile Pump, Standby	100	Hour	\$100.00	\$10,000.00
9	Group 4- JetVac Truck, Emergency	600	Hour	\$325.00	\$195,000.00

[ACE SEPTIC AND WASTE] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total	
10	Group 4- JetVac Truck, Standby	100	Hour	\$325.00	\$32,500.00	
TOTAL						\$1,389,500.00

DISPOSAL CHARGES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total	
11	Third party facility	1,500	Ton	\$33.00	\$49,500.00	
12	Disposal Operator	1,500	Ton	\$33.00	\$49,500.00	
TOTAL						\$99,000.00



Pinellas County
ADMINISTRATIVE SERVICES

Joseph Lauro, Director
Pinellas County Courthouse Annex Bldg., Sixth Floor, Clearwater, FL 33765

[ENVIROSERVE, INC.] RESPONSE DOCUMENT REPORT

ALL No. 25-0200-ITB

Emergency Storm Response Tanker and Pump Truck Services

RESPONSE DEADLINE: April 17, 2025 at 3:00 pm

Report Generated: Tuesday, May 27, 2025

Enviroserve, Inc. Response

CONTACT INFORMATION

Company:

Enviroserve, Inc.

Email:

tashakilgore@enviroserve.com

Contact:

Tasha Kilgore

Address:

9815 S Monroe St.
Sandy, UT 84070

Phone:

N/A

Website:

<https://enviroserve.com/>

Submission Date:

Apr 16, 2025 5:35 PM (Eastern Time)

ADDENDA CONFIRMATION

No addenda issued

QUESTIONNAIRE

1. VENDOR QUESTIONNAIRE

Respondents are expected to organize their submittals in such a manner as to facilitate the evaluation process. Submittals should be keyed or indexed to correspond with this solicitation. Responses should be correlated to the specific submittal, criterion, section or paragraph number of the solicitation being addressed.

Evaluators will make a reasonable effort to locate information in the responses; however failure to follow this suggested format may make location of critical submittal information difficult, possibly resulting in a loss of appropriate credit.

Additional documentation may be requested by the County to ensure contract compliance.

FEMA REQUIREMENTS EXHIBIT G*

Complete and upload FEMA Requirements "Exhibit G Disclosure of Lobbying Activities" form.

- [Exhibit G, H & I - FEMA Gra...](#)

25-0200-ITB_Exhibit_G_H__I_-_FEMA_Grant_Provisions.pdf

CONTRACTOR ACCEPTANCE FORM*

Download the below documents, complete, and upload.

- [11.13.2024.Vendor.acceptanc...](#)

11.13.2024.Vendor.acceptance.pdf

OPENGOV ELECTRONIC PRICING PROPOSAL AND DELIVERY DAYS*

[ENVIROSERVE, INC.] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

See OpenGov electronic [Pricing Proposal](#). Pricing must be submitted within the OpenGov electronic [Pricing Proposal](#) and all pricing must be completed.

DELIVERY _____ DAYS AFTER RECEIPT OF ORDER

An award may not be issued without proof that your firm is registered with the Florida Division of Corporations, as per Florida Statute §607.1501 www.flsenate.gov/Laws/Statutes/2011/607.1501.

A foreign corporation (foreign to the State of Florida) may not transact business in this state until it obtains a certificate of authority from the Department of State. Please visit dos.myflorida.com/sunbiz/ for this information on how to become registered.

30 days

SUBMITTAL DOCUMENTS*

Upload all other documents relating to this solicitation.

Pinellas_County_a_Political_Subdivision(44651).pdf

ATTACHMENTS*

Please note there are three attachments/affidavits which will have to be completed and signed by the awardee.

1. Common Carrier Attestation
2. Human Trafficking Affidavit
3. Foreign Countries of Concern Affidavit.

Please confirm that you have read and understand that these documents will be required of the awardee.

Confirmed

PRICE TABLES

VEHICLES

[ENVIROSERVE, INC.] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc. No additional charges for operators allowed.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
1	Group 1- Pump Truck, 4,000 gallons, Emergency	1,000	Hour	\$250.00	\$250,000.00
2	Group 1- Pump Truck, 4,000 gallons, Standby	100	Hour	\$200.00	\$20,000.00
3	Group 1- Pump Truck, 7,500 gallons, Emergency	500	Hour	\$275.00	\$137,500.00
4	Group 1- Pump Truck, 7,500 gallons, Standby	99	Hour	\$225.00	\$22,275.00
5	Group 2- Tractor Trailer/Tanker, Emergency	600	Hour	\$190.00	\$114,000.00
6	Group 2- Tractor Trailer/Tanker, Standby	100	Hour	\$137.00	\$13,700.00
7	Group 3- High Output Mobile Pump, Emergency	600	Hour	\$110.50	\$66,300.00
8	Group 3- High Output Mobile Pump, Standby	100	Hour	\$96.50	\$9,650.00
9	Group 4- JetVac Truck, Emergency	600	Hour	\$435.00	\$261,000.00
10	Group 4- JetVac Truck, Standby	100	Hour	\$385.00	\$38,500.00
TOTAL					\$932,925.00

DISPOSAL CHARGES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc.

[ENVIROSERVE, INC.] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
11	Third party facility	1,500	Ton	\$80.00	\$120,000.00
12	Disposal Operator	1,500	Ton	\$0.00	\$0.00
TOTAL					\$120,000.00



Pinellas County
ADMINISTRATIVE SERVICES

Joseph Lauro, Director
Pinellas County Courthouse Annex Bldg., Sixth Floor, Clearwater, FL 33765

[ENVIROWASTE SERVICES GROUP, INC.] RESPONSE DOCUMENT REPORT

ALL No. 25-0200-ITB

Emergency Storm Response Tanker and Pump Truck Services

RESPONSE DEADLINE: April 17, 2025 at 3:00 pm

Report Generated: Tuesday, May 27, 2025

EnviroWaste Services Group, Inc. Response

CONTACT INFORMATION

Company:

EnviroWaste Services Group, Inc.

Email:

johnrinehart@ewsg.com

Contact:

John Rinehart

Address:

18001 Old Cutler Road, Suite 643
Palmetto Bay, FL 33157

Phone:

(954) 448-4181

Website:

EWSG.COM

Submission Date:

Apr 17, 2025 4:35 AM (Eastern Time)

ADDENDA CONFIRMATION

No addenda issued

QUESTIONNAIRE

1. VENDOR QUESTIONNAIRE

Respondents are expected to organize their submittals in such a manner as to facilitate the evaluation process. Submittals should be keyed or indexed to correspond with this solicitation. Responses should be correlated to the specific submittal, criterion, section or paragraph number of the solicitation being addressed.

Evaluators will make a reasonable effort to locate information in the responses; however failure to follow this suggested format may make location of critical submittal information difficult, possibly resulting in a loss of appropriate credit.

Additional documentation may be requested by the County to ensure contract compliance.

FEMA REQUIREMENTS EXHIBIT G*

Complete and upload FEMA Requirements "Exhibit G Disclosure of Lobbying Activities" form.

- [Exhibit G, H & I - FEMA Gra...](#)

Exhibit_G,_H_&_I_-_FEMA_Grant_Provisions.pdf

CONTRACTOR ACCEPTANCE FORM*

Download the below documents, complete, and upload.

- [11.13.2024.Vendor.acceptanc...](#)

11.13.2024.Vendor.acceptance_(1).pdf

OPENGOV ELECTRONIC PRICING PROPOSAL AND DELIVERY DAYS*

See OpenGov electronic [Pricing Proposal](#). Pricing must be submitted within the OpenGov electronic [Pricing Proposal](#) and all pricing must be completed.

DELIVERY _____ DAYS AFTER RECEIPT OF ORDER

An award may not be issued without proof that your firm is registered with the Florida Division of Corporations, as per Florida Statute §607.1501 www.flsenate.gov/Laws/Statutes/2011/607.1501.

A foreign corporation (foreign to the State of Florida) may not transact business in this state until it obtains a certificate of authority from the Department of State. Please visit dos.myflorida.com/sunbiz/ for this information on how to become registered.

Delivery in keeping with contract allowance, depending on the type of response (Emergency or Standby).

SUBMITTAL DOCUMENTS*

Upload all other documents relating to this solicitation.

Common_Carrier_Attestation_02.05.2025.pdf

Foreign_County_of_Concern_Affidavit.pdf

Human_Trafficking_Affidavit_02.05.2025.pdf

8._PricingProposal_Vehicles.xlsx

8._PricingProposal_Disposal.xlsx

8._PricingProposal.pdf

Equipment_ALL.pdf

ATTACHMENTS*

Please note there are three attachments/affidavits which will have to be completed and signed by the awardee.

1. Common Carrier Attestation

2. Human Trafficking Affidavit

3. Foreign Countries of Concern Affidavit.

Please confirm that you have read and understand that these documents will be required of the awardee.

[ENVIROWASTE SERVICES GROUP, INC.] RESPONSE DOCUMENT REPORT

ALL No. 25-0200-ITB

Emergency Storm Response Tanker and Pump Truck Services

Confirmed

PRICE TABLES

VEHICLES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc. No additional charges for operators allowed.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
1	Group 1- Pump Truck, 4,000 gallons, Emergency	1,000	Hour	\$245.00	\$245,000.00
2	Group 1- Pump Truck, 4,000 gallons, Standby	100	Hour	\$245.00	\$24,500.00
3	Group 1- Pump Truck, 7,500 gallons, Emergency	500	Hour	\$0.00	\$0.00
4	Group 1- Pump Truck, 7,500 gallons, Standby	99	Hour	\$0.00	\$0.00
5	Group 2- Tractor Trailer/Tanker, Emergency	600	Hour	\$0.00	\$0.00
6	Group 2- Tractor Trailer/Tanker, Standby	100	Hour	\$0.00	\$0.00
7	Group 3- High Output Mobile Pump, Emergency	600	Hour	\$0.00	\$0.00
8	Group 3- High Output Mobile Pump, Standby	100	Hour	\$0.00	\$0.00
9	Group 4- JetVac Truck, Emergency	600	Hour	\$300.00	\$180,000.00
10	Group 4- JetVac Truck, Standby	100	Hour	\$275.00	\$27,500.00
TOTAL					\$477,000.00

[ENVIROWASTE SERVICES GROUP, INC.] RESPONSE DOCUMENT REPORT

ALL No. 25-0200-ITB

Emergency Storm Response Tanker and Pump Truck Services

DISPOSAL CHARGES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
11	Third party facility	1,500	Ton	\$75.00	\$112,500.00
12	Disposal Operator	1,500	Ton	\$75.00	\$112,500.00
TOTAL					\$225,000.00



Pinellas County
ADMINISTRATIVE SERVICES

Joseph Lauro, Director
Pinellas County Courthouse Annex Bldg., Sixth Floor, Clearwater, FL 33765

[FLOTECH ENVIRONMENTAL, LLC] RESPONSE DOCUMENT REPORT

ALL No. 25-0200-ITB

Emergency Storm Response Tanker and Pump Truck Services

RESPONSE DEADLINE: April 17, 2025 at 3:00 pm

Report Generated: Tuesday, May 27, 2025

Flotech Environmental, LLC Response

CONTACT INFORMATION

Company:

Flotech Environmental, LLC

Email:

estimating@flotechllc.com

Contact:

Yinet Quintana

Address:

657 South Drive
Suite 401
Miami Springs, FL 33166

Phone:

N/A

Website:

www.flotechllc.com

Submission Date:

Apr 16, 2025 4:51 PM (Eastern Time)

ADDENDA CONFIRMATION

No addenda issued

QUESTIONNAIRE

1. VENDOR QUESTIONNAIRE

Respondents are expected to organize their submittals in such a manner as to facilitate the evaluation process. Submittals should be keyed or indexed to correspond with this solicitation. Responses should be correlated to the specific submittal, criterion, section or paragraph number of the solicitation being addressed.

Evaluators will make a reasonable effort to locate information in the responses; however failure to follow this suggested format may make location of critical submittal information difficult, possibly resulting in a loss of appropriate credit.

Additional documentation may be requested by the County to ensure contract compliance.

FEMA REQUIREMENTS EXHIBIT G*

Complete and upload FEMA Requirements "Exhibit G Disclosure of Lobbying Activities" form.

- [Exhibit G, H & I - FEMA Gra...](#)

Exhibit_G_Disclosure_of_Lobbying_Activities_-_Flotech_Env_Exe.pdf

CONTRACTOR ACCEPTANCE FORM*

Download the below documents, complete, and upload.

- [11.13.2024.Vendor.acceptanc...](#)

Vendor_Submittal_Acknowledgement_Form_-_Flotech_Env_Exe.pdf

OPENGOV ELECTRONIC PRICING PROPOSAL AND DELIVERY DAYS*

See OpenGov electronic [Pricing Proposal](#). Pricing must be submitted within the OpenGov electronic [Pricing Proposal](#) and all pricing must be completed.

DELIVERY _____ DAYS AFTER RECEIPT OF ORDER

An award may not be issued without proof that your firm is registered with the Florida Division of Corporations, as per Florida Statute §607.1501 www.flsenate.gov/Laws/Statutes/2011/607.1501.

A foreign corporation (foreign to the State of Florida) may not transact business in this state until it obtains a certificate of authority from the Department of State. Please visit dos.myflorida.com/sunbiz/ for this information on how to become registered.

Acknowledged. DELIVERY 120 DAYS AFTER RECEIPT OF ORDER; FLOTECH ENVIRONMENTAL, LLC is registered with the Florida Division of Corporations, DOCUMENT# L12000004059 as shown on attachment

SUBMITTAL DOCUMENTS*

Upload all other documents relating to this solicitation.

Certificate_of_Insurance_for_Pinellas_County,_a_Political.pdf

Common_Carrier_Attestation_-_Flotech_Env_Exe.pdf

Foreign_County_of_Concern_Affidavit_-_Flotech_Env_Exe.pdf

Human_Trafficking_Affidavit_-_Flotech_Env_Exe.pdf

Flotech_Env_Qualifications_Package_2025.pdf

GetDocument_(1).pdf

ATTACHMENTS*

Please note there are three attachments/affidavits which will have to be completed and signed by the awardee.

1. Common Carrier Attestation

2. Human Trafficking Affidavit

3. Foreign Countries of Concern Affidavit.

Please confirm that you have read and understand that these documents will be required of the awardee.

Confirmed

PRICE TABLES

VEHICLES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc. No additional charges for operators allowed.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
1	Group 1- Pump Truck, 4,000 gallons, Emergency	1,000	Hour	\$190.00	\$190,000.00
2	Group 1- Pump Truck, 4,000 gallons, Standby	100	Hour	\$175.00	\$17,500.00
3	Group 1- Pump Truck, 7,500 gallons, Emergency	500	Hour	\$300.00	\$150,000.00
4	Group 1- Pump Truck, 7,500 gallons, Standby	99	Hour	\$290.00	\$28,710.00
5	Group 2- Tractor Trailer/Tanker, Emergency	600	Hour	\$0.00	\$0.00
6	Group 2- Tractor Trailer/Tanker, Standby	100	Hour	\$0.00	\$0.00
7	Group 3- High Output Mobile Pump, Emergency	600	Hour	\$315.00	\$189,000.00
8	Group 3- High Output Mobile Pump, Standby	100	Hour	\$300.00	\$30,000.00
9	Group 4- JetVac Truck, Emergency	600	Hour	\$275.00	\$165,000.00
10	Group 4- JetVac Truck, Standby	100	Hour	\$250.00	\$25,000.00
TOTAL					\$795,210.00

DISPOSAL CHARGES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
11	Third party facility	1,500	Ton	\$80.00	\$120,000.00
12	Disposal Operator	1,500	Ton	\$15.00	\$22,500.00
TOTAL					\$142,500.00



Pinellas County
ADMINISTRATIVE SERVICES

Joseph Lauro, Director
Pinellas County Courthouse Annex Bldg., Sixth Floor, Clearwater, FL 33765

[GARNER ENVIRONMENTAL SERVICES, INC.] RESPONSE DOCUMENT REPORT

ALL No. 25-0200-ITB

Emergency Storm Response Tanker and Pump Truck Services

RESPONSE DEADLINE: April 17, 2025 at 3:00 pm

Report Generated: Tuesday, May 27, 2025

Garner Environmental Services, Inc. Response

CONTACT INFORMATION

Company:

Garner Environmental Services, Inc.

Email:

admin@garner-es.com

Contact:

Garner Admin

Address:

952 Echo Lane
Suite 400
Houston, TX 77024-2820

Phone:

(281) 930-1200

Website:

www.garner-es.com

Submission Date:

Apr 16, 2025 11:20 AM (Eastern Time)

ADDENDA CONFIRMATION

No addenda issued

QUESTIONNAIRE

1. VENDOR QUESTIONNAIRE

Respondents are expected to organize their submittals in such a manner as to facilitate the evaluation process. Submittals should be keyed or indexed to correspond with this solicitation. Responses should be correlated to the specific submittal, criterion, section or paragraph number of the solicitation being addressed.

Evaluators will make a reasonable effort to locate information in the responses; however failure to follow this suggested format may make location of critical submittal information difficult, possibly resulting in a loss of appropriate credit.

Additional documentation may be requested by the County to ensure contract compliance.

FEMA REQUIREMENTS EXHIBIT G*

Complete and upload FEMA Requirements "Exhibit G Disclosure of Lobbying Activities" form.

- [Exhibit G, H & I - FEMA Gra...](#)

Exhibit_G,_H_&_I_-_FEMA_Grant_Provisions.pdf

CONTRACTOR ACCEPTANCE FORM*

Download the below documents, complete, and upload.

- [11.13.2024.Vendor.acceptanc...](#)

Vendor_Acceptance_Form.pdf

OPENGOV ELECTRONIC PRICING PROPOSAL AND DELIVERY DAYS*

[GARNER ENVIRONMENTAL SERVICES, INC.] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

See OpenGov electronic [Pricing Proposal](#). Pricing must be submitted within the OpenGov electronic [Pricing Proposal](#) and all pricing must be completed.

DELIVERY _____ DAYS AFTER RECEIPT OF ORDER

An award may not be issued without proof that your firm is registered with the Florida Division of Corporations, as per Florida Statute §607.1501 www.flsenate.gov/Laws/Statutes/2011/607.1501.

A foreign corporation (foreign to the State of Florida) may not transact business in this state until it obtains a certificate of authority from the Department of State. Please visit dos.myflorida.com/sunbiz/ for this information on how to become registered.

Delivery 1 day after receipt of order.

SUBMITTAL DOCUMENTS*

Upload all other documents relating to this solicitation.

Common_Carrier_Attestation.pdf

COI.pdf

Foreign_County_of_Concern_Affidavit.pdf

Human_Trafficking_Affidavit.pdf

ATTACHMENTS*

Please note there are three attachments/affidavits which will have to be completed and signed by the awardee.

1. Common Carrier Attestation

2. Human Trafficking Affidavit

3. Foreign Countries of Concern Affidavit.

Please confirm that you have read and understand that these documents will be required of the awardee.

Confirmed

PRICE TABLES

VEHICLES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc. No additional charges for operators allowed.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
1	Group 1- Pump Truck, 4,000 gallons, Emergency	1,000	Hour	\$675.00	\$675,000.00
2	Group 1- Pump Truck, 4,000 gallons, Standby	100	Hour	\$487.50	\$48,750.00
3	Group 1- Pump Truck, 7,500 gallons, Emergency	500	Hour	\$675.00	\$337,500.00
4	Group 1- Pump Truck, 7,500 gallons, Standby	99	Hour	\$487.50	\$48,262.50
5	Group 2- Tractor Trailer/Tanker, Emergency	600	Hour	\$675.00	\$405,000.00
6	Group 2- Tractor Trailer/Tanker, Standby	100	Hour	\$487.50	\$48,750.00
7	Group 3- High Output Mobile Pump, Emergency	600	Hour	\$250.00	\$150,000.00
8	Group 3- High Output Mobile Pump, Standby	100	Hour	\$181.25	\$18,125.00
9	Group 4- JetVac Truck, Emergency	600	Hour	\$862.50	\$517,500.00
10	Group 4- JetVac Truck, Standby	100	Hour	\$612.50	\$61,250.00
TOTAL					\$2,310,137.50

DISPOSAL CHARGES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc.

[GARNER ENVIRONMENTAL SERVICES, INC.] RESPONSE DOCUMENT REPORT

ALL No. 25-0200-ITB

Emergency Storm Response Tanker and Pump Truck Services

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
11	Third party facility	1,500	Ton	\$300.00	\$450,000.00
12	Disposal Operator	1,500	Ton	\$300.00	\$450,000.00
TOTAL					\$900,000.00



Pinellas County
ADMINISTRATIVE SERVICES

Joseph Lauro, Director
Pinellas County Courthouse Annex Bldg., Sixth Floor, Clearwater, FL 33765

[REPUBLIC SERVICES] RESPONSE DOCUMENT REPORT

ALL No. 25-0200-ITB

Emergency Storm Response Tanker and Pump Truck Services

RESPONSE DEADLINE: April 17, 2025 at 3:00 pm

Report Generated: Tuesday, May 27, 2025

Republic Services Response

CONTACT INFORMATION

Company:

Republic Services

Email:

afrye@publicservices.com

Contact:

Alex Frye

Address:

7112 E 7th Ave
Tampa, FL 33619

Phone:

(717) 209-0552

Website:

N/A

Submission Date:

Apr 17, 2025 1:50 PM (Eastern Time)

ADDENDA CONFIRMATION

No addenda issued

QUESTIONNAIRE

1. VENDOR QUESTIONNAIRE

Respondents are expected to organize their submittals in such a manner as to facilitate the evaluation process. Submittals should be keyed or indexed to correspond with this solicitation. Responses should be correlated to the specific submittal, criterion, section or paragraph number of the solicitation being addressed.

Evaluators will make a reasonable effort to locate information in the responses; however failure to follow this suggested format may make location of critical submittal information difficult, possibly resulting in a loss of appropriate credit.

Additional documentation may be requested by the County to ensure contract compliance.

FEMA REQUIREMENTS EXHIBIT G*

Complete and upload FEMA Requirements "Exhibit G Disclosure of Lobbying Activities" form.

- [Exhibit G, H & I - FEMA Gra...](#)

Exhibit_G,_H_&_I_-_FEMA_Grant_Provisions__RSG.pdf

CONTRACTOR ACCEPTANCE FORM*

Download the below documents, complete, and upload.

- [11.13.2024.Vendor.acceptanc...](#)

11.13.2024.Vendor.acceptance_RSG.pdf

OPENGOV ELECTRONIC PRICING PROPOSAL AND DELIVERY DAYS*

[REPUBLIC SERVICES] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

See OpenGov electronic [Pricing Proposal](#). Pricing must be submitted within the OpenGov electronic [Pricing Proposal](#) and all pricing must be completed.

DELIVERY _____ DAYS AFTER RECEIPT OF ORDER

An award may not be issued without proof that your firm is registered with the Florida Division of Corporations, as per Florida Statute §607.1501 www.flsenate.gov/Laws/Statutes/2011/607.1501.

A foreign corporation (foreign to the State of Florida) may not transact business in this state until it obtains a certificate of authority from the Department of State. Please visit dos.myflorida.com/sunbiz/ for this information on how to become registered.

2

SUBMITTAL DOCUMENTS*

Upload all other documents relating to this solicitation.

Pinellas_Co_ER_Disposal_RSG.xlsx

Pinellas_Co_ER_Rates_RSG.xlsx

ATTACHMENTS*

Please note there are three attachments/affidavits which will have to be completed and signed by the awardee.

1. Common Carrier Attestation

2. Human Trafficking Affidavit

3. Foreign Countries of Concern Affidavit.

Please confirm that you have read and understand that these documents will be required of the awardee.

Confirmed

PRICE TABLES

[REPUBLIC SERVICES] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

VEHICLES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc. No additional charges for operators allowed.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
1	Group 1- Pump Truck, 4,000 gallons, Emergency	1,000	Hour	\$250.00	\$250,000.00
2	Group 1- Pump Truck, 4,000 gallons, Standby	100	Hour	\$185.00	\$18,500.00
3	Group 1- Pump Truck, 7,500 gallons, Emergency	500	Hour	\$325.00	\$162,500.00
4	Group 1- Pump Truck, 7,500 gallons, Standby	99	Hour	\$225.00	\$22,275.00
5	Group 2- Tractor Trailer/Tanker, Emergency	600	Hour	\$325.00	\$195,000.00
6	Group 2- Tractor Trailer/Tanker, Standby	100	Hour	\$225.00	\$22,500.00
7	Group 3- High Output Mobile Pump, Emergency	600	Hour	\$300.00	\$180,000.00
8	Group 3- High Output Mobile Pump, Standby	100	Hour	\$200.00	\$20,000.00
9	Group 4- JetVac Truck, Emergency	600	Hour	\$300.00	\$180,000.00
10	Group 4- JetVac Truck, Standby	100	Hour	\$250.00	\$25,000.00
TOTAL					\$1,075,775.00

DISPOSAL CHARGES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc.

[REPUBLIC SERVICES] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
11	Third party facility	1,500	Ton	\$150.00	\$225,000.00
12	Disposal Operator	1,500	Ton	\$150.00	\$225,000.00
TOTAL					\$450,000.00



Pinellas County
ADMINISTRATIVE SERVICES

Joseph Lauro, Director
Pinellas County Courthouse Annex Bldg., Sixth Floor, Clearwater, FL 33765

[T. WAYNE HILL TRUCKING, INC] RESPONSE DOCUMENT REPORT

ALL No. 25-0200-ITB

Emergency Storm Response Tanker and Pump Truck Services

RESPONSE DEADLINE: April 17, 2025 at 3:00 pm

Report Generated: Tuesday, May 27, 2025

T. WAYNE HILL TRUCKING, INC Response

CONTACT INFORMATION

Company:

T. WAYNE HILL TRUCKING, INC

Email:

swright@twhtrucking.com

Contact:

SHAWN WRIGHT

Address:

417 BRADSHAW INDUSTRIAL PKWY
BARTOW, FL 33830

Phone:

N/A

Website:

N/A

Submission Date:

Apr 17, 2025 12:16 PM (Eastern Time)

ADDENDA CONFIRMATION

No addenda issued

QUESTIONNAIRE

1. VENDOR QUESTIONNAIRE

Respondents are expected to organize their submittals in such a manner as to facilitate the evaluation process. Submittals should be keyed or indexed to correspond with this solicitation. Responses should be correlated to the specific submittal, criterion, section or paragraph number of the solicitation being addressed.

Evaluators will make a reasonable effort to locate information in the responses; however failure to follow this suggested format may make location of critical submittal information difficult, possibly resulting in a loss of appropriate credit.

Additional documentation may be requested by the County to ensure contract compliance.

FEMA REQUIREMENTS EXHIBIT G*

Complete and upload FEMA Requirements "Exhibit G Disclosure of Lobbying Activities" form.

- [Exhibit G, H & I - FEMA Gra...](#)

Disclosure_of_Lobbying.pdf

CONTRACTOR ACCEPTANCE FORM*

Download the below documents, complete, and upload.

- [11.13.2024.Vendor.acceptanc...](#)

Vendor_Acceptance.pdf

OPENGOV ELECTRONIC PRICING PROPOSAL AND DELIVERY DAYS*

See OpenGov electronic [Pricing Proposal](#). Pricing must be submitted within the OpenGov electronic [Pricing Proposal](#) and all pricing must be completed.

DELIVERY _____ DAYS AFTER RECEIPT OF ORDER

An award may not be issued without proof that your firm is registered with the Florida Division of Corporations, as per Florida Statute §607.1501 www.flsenate.gov/Laws/Statutes/2011/607.1501.

A foreign corporation (foreign to the State of Florida) may not transact business in this state until it obtains a certificate of authority from the Department of State. Please visit dos.myflorida.com/sunbiz/ for this information on how to become registered.

1

SUBMITTAL DOCUMENTS*

Upload all other documents relating to this solicitation.

IMG_0003.pdf
Drug_Free_Workplace.pdf
Business_Tax_Receipt.pdf
2023_Equipment_List.xls
Foreign_County_of_Concern_Affidavit.pdf
Human_Trafficking_Affidavit.pdf
Common_Carrier_Attestation.pdf

ATTACHMENTS*

Please note there are three attachments/affidavits which will have to be completed and signed by the awardee.

1. Common Carrier Attestation
2. Human Trafficking Affidavit
3. Foreign Countries of Concern Affidavit.

Please confirm that you have read and understand that these documents will be required of the awardee.

Confirmed

PRICE TABLES

VEHICLES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc. No additional charges for operators allowed.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
1	Group 1- Pump Truck, 4,000 gallons, Emergency	1,000	Hour	\$0.00	\$0.00
2	Group 1- Pump Truck, 4,000 gallons, Standby	100	Hour	\$0.00	\$0.00
3	Group 1- Pump Truck, 7,500 gallons, Emergency	500	Hour	\$0.00	\$0.00
4	Group 1- Pump Truck, 7,500 gallons, Standby	99	Hour	\$0.00	\$0.00
5	Group 2- Tractor Trailer/Tanker, Emergency	600	Hour	\$400.00	\$240,000.00
6	Group 2- Tractor Trailer/Tanker, Standby	100	Hour	\$300.00	\$30,000.00
7	Group 3- High Output Mobile Pump, Emergency	600	Hour	\$100.00	\$60,000.00
8	Group 3- High Output Mobile Pump, Standby	100	Hour	\$50.00	\$5,000.00
9	Group 4- JetVac Truck, Emergency	600	Hour	\$0.00	\$0.00
10	Group 4- JetVac Truck, Standby	100	Hour	\$0.00	\$0.00
TOTAL					\$335,000.00

DISPOSAL CHARGES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
11	Third party facility	1,500	Ton	\$0.00	\$0.00
12	Disposal Operator	1,500	Ton	\$0.00	\$0.00
TOTAL					\$0.00

ADDENDA CONFIRMATION

No addenda issued

QUESTIONNAIRE

1. VENDOR QUESTIONNAIRE

Respondents are expected to organize their submittals in such a manner as to facilitate the evaluation process. Submittals should be keyed or indexed to correspond with this solicitation. Responses should be correlated to the specific submittal, criterion, section or paragraph number of the solicitation being addressed.

Evaluators will make a reasonable effort to locate information in the responses; however failure to follow this suggested format may make location of critical submittal information difficult, possibly resulting in a loss of appropriate credit.

Additional documentation may be requested by the County to ensure contract compliance.

FEMA REQUIREMENTS EXHIBIT G*

Complete and upload FEMA Requirements "Exhibit G Disclosure of Lobbying Activities" form.

- [Exhibit G, H & I - FEMA Gra...](#)

25-0200-ITB_Exhibit_G,_H_&_I_-_FEMA_Grant_Provisions_ACE_Sepic_Tank_Service_of_Tampa.pdf

CONTRACTOR ACCEPTANCE FORM*

Download the below documents, complete, and upload.

- [11.13.2024.Vendor.acceptanc...](#)

Vendor_Acceptance_Ace_Sepic_Tank_Service_of_Tampa.pdf

OPENGOV ELECTRONIC PRICING PROPOSAL AND DELIVERY DAYS*

[ACE SEPTIC AND WASTE] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

See OpenGov electronic [Pricing Proposal](#). Pricing must be submitted within the OpenGov electronic [Pricing Proposal](#) and all pricing must be completed.

DELIVERY _____ DAYS AFTER RECEIPT OF ORDER

An award may not be issued without proof that your firm is registered with the Florida Division of Corporations, as per Florida Statute §607.1501 www.flsenate.gov/Laws/Statutes/2011/607.1501.

A foreign corporation (foreign to the State of Florida) may not transact business in this state until it obtains a certificate of authority from the Department of State. Please visit dos.myflorida.com/sunbiz/ for this information on how to become registered.

Our firm is registered with the Florida Division of Corporations, and we have obtained the necessary certificate of authority to transact business in Florida.

SUBMITTAL DOCUMENTS*

Upload all other documents relating to this solicitation.

ACE_Septic_Tank_Service_of_Tampa_W9.pdf

Appendix_A_Certifications_&_Licenses.pdf

Pinellas_County_Ace_Septic_Tank_Service_of_Tampa_Inc_Certificate_of_Insurance.pdf

Common_Carrier_Ace_Septic_Tank_Service_of_Tampa.pdf

Human_Trafficking_Ace_Septic_Tank_Service_of_Tampa.pdf

Foreign_Country_of_Concern_Ace_Septic_Tank_Service_of_Tampa.pdf

Hillsborough_AceRecommendation_03-2025.pdf

SWS_Recommendation_Letter.pdf

U.S_Water_Service_Corp_Recommendation_Letter.pdf

ATTACHMENTS*

Please note there are three attachments/affidavits which will have to be completed and signed by the awardee.

1. Common Carrier Attestation

2. Human Trafficking Affidavit

[ACE SEPTIC AND WASTE] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

3. Foreign Countries of Concern Affidavit.

Please confirm that you have read and understand that these documents will be required of the awardee.

Confirmed

PRICE TABLES

VEHICLES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc. No additional charges for operators allowed.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total
1	Group 1- Pump Truck, 4,000 gallons, Emergency	1,000	Hour	\$325.00	\$325,000.00
2	Group 1- Pump Truck, 4,000 gallons, Standby	100	Hour	\$325.00	\$32,500.00
3	Group 1- Pump Truck, 7,500 gallons, Emergency	500	Hour	\$550.00	\$275,000.00
4	Group 1- Pump Truck, 7,500 gallons, Standby	99	Hour	\$500.00	\$49,500.00
5	Group 2- Tractor Trailer/Tanker, Emergency	600	Hour	\$550.00	\$330,000.00
6	Group 2- Tractor Trailer/Tanker, Standby	100	Hour	\$500.00	\$50,000.00
7	Group 3- High Output Mobile Pump, Emergency	600	Hour	\$150.00	\$90,000.00
8	Group 3- High Output Mobile Pump, Standby	100	Hour	\$100.00	\$10,000.00
9	Group 4- JetVac Truck, Emergency	600	Hour	\$325.00	\$195,000.00

[ACE SEPTIC AND WASTE] RESPONSE DOCUMENT REPORT
ALL No. 25-0200-ITB
Emergency Storm Response Tanker and Pump Truck Services

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total	
10	Group 4- JetVac Truck, Standby	100	Hour	\$325.00	\$32,500.00	
TOTAL						\$1,389,500.00

DISPOSAL CHARGES

All-inclusive rate to include mobilization/demobilization and all other fees including overhead, profit, transportation, labor, etc.

Line Item	Description	Estimated Quantity	Unit of Measure	Unit Cost	Total	
11	Third party facility	1,500	Ton	\$33.00	\$49,500.00	
12	Disposal Operator	1,500	Ton	\$33.00	\$49,500.00	
TOTAL						\$99,000.00